Efficiency vs Dxy(PV)

£0.05
%045
3
©0.04
>
.035
c
$50.03
s
®.025
0.02
0.015

0.

[ Efficiend]

'_‘—25_

20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

[—— DQM_mKFIt_TTorgmal
—e— DQM_mkFit_TToriginal-106

—w— DQM_mkFit_TTNEWHSMS95_ALLITERS-106
—— DQM_mkFit_TTNEWHSMS50_ALLITERS-106
—— DQM_mkFit TTNEWHSMS100_ALLITERS-106

0.3]

o
o N
NGl
N LR LN L L LAY LA LR LAY L

s [ A A

02040608 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)

0.8

efficiency vs dz(PV)
o o o
[ |

o
w

[=)
IS
T T T [ T [T T [T T

-20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

S 1. 5 - -

o L . .

5t : :

» 1 "'"'"'""""."""".""' """

> . .

> H .

o . .

c

@ : :

o [ . .

@ o . .
0.6f------- g g g :
| SO S A R - :
0.2f-deeeees deeeenns feeeenns : i

] ; ]

28 H k

T - B -

& : :

Y I : |
-1 -0.5 0 0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


